Pop Quiz #5

1. In which state of India was the gender ratio lowest?
b. Haryana and Punjab

2. Which arguments does Sen use to suggest when a women will be better off (circle all that
apply):

a. They can earn an outside income

b. Their work is recognized as productive

c. They own some economic resources and have some rights to fall back on

3. Which region has the highest proportion of women in gainful employment?
a. Sub-Saharan Africa

4. What does Sen note about female infant mortality in China?
a. Female infant mortality increased between 1978 to 1984
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